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12-bit 2's complemcnt code? Write your result in binar-v
and decimal form.
A I2-bit Hamming codc word containing 8 bits of data and
4 paritv bits is reacl from mcmory. What was the original
B-bit data rvord that was writtcn into memorr- if the l2-bit
word read out is 010000000101?

A bit strcam 1001I l0l is t.ransmitted using the standard CRC
n-rethod. Thc generator polynomiai is x3 + 1. Show the actual
bit string transmitted. Suppose the third bit from the icft is
inverted during transmission. Show that this error is detected
at the receivers end.

What are the B-bit patterns used to represent each of the
characters in the string "trVM MACHINE'?
In hex, a) 2RFC + 54A7 b) AC74 - B3Fr.

(b)
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(b) M = F(w,x,y,z\ = lrn(2,9,10, I 1,13,14, 15)
Simpliiy M using three variables MEV K-map. Assign z as the
N!EV.

i. Verily the given exprcssion using laws of Boolean algebra.
(Z+X\ .{Z+X'+Y1 : @+X|.(Z+Y)

i. Reduce the follor.ving to its simpiest form using laws of
Booiean algebra. At each step state the lau,, used for
simpli fi cation. 

.AB'+A'BC'+ 
(AC)'+BC

What is BiCMOS Technologz? What are the basic processing
steps involved in BiCMOS procesg? What are four generations
of Integration Circuits?
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(,r) Slirnplil'r, ritc sum-of-products solution usirrg'l';rbt-ti:lLion
Mr:1hod(QM Mcthod)
Ir(A, l'1, C, D, ll) = r-n(C). 2, (t,7, [3, 10, 11,12. 1l]. 14, lb, -l8,

19.'29, 30) + cl(4, c), 21)

ilxplain thc paramcter 1o characterizc logic: lamilies (At Lcast

5)?

Detcrmine a minimum sum-of-products expression for

/(u, b, c', cl, e):(a' 1- c'a d) (rr'1 b t e) (a * c'-1'c') (.'+ rl 't a' I

Q a c' * cl' -t e)Qt'+1r' + c 1 e' )

(a) Why is a'd-e' an esscntial prime implicant'?
(b) Which minterms are adjacent to m3 and m19?
(c) Is there an essential prime irnplicant which covers m3 and

m 19?
(d) Is there an essential prime implicernt which covers m21')
(e) why is there no essential prime impiicant which covers

m1i and m28?

lmplement the following Booiean function using a single 4x1

,rrd Brt Nlultiplexer. F (A,R,C,D) : D ( 0, 7,2,4,6,9, 12, 14 \

Design and implement a .l-bit Excess-il -to-Gray Code
(lonvert.er.

(b)
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Simplify the foilowing expression to sum
Terbulation Metl-rod(QM Method)

F (a,b,c,d)=f (0,4,8, lO,!2,1 3, 15)+d(1 ,2i

How to impie ment 8:1 line multiplexer using
multipiexers? Also desigrr B:1 multiplexer using 2:

o[ ProducL using 
I os ivtark"

two 4:l line

with truth table.
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